
Scientific Notation (I)Convert each number from scientific notation to an ordinary number.
1.575 × 10⁻⁴ = 8.5 × 10⁻⁸ =
4.128 × 10⁻³ = 2.6 × 10⁻⁵ =

8.4 × 10⁻⁷ = 2.05 × 10⁻⁸ =
6.46 × 10⁻⁸ = 8.131 × 10⁻⁷ =

9.685 × 10⁻⁴ = 2.88 × 10⁻⁶ =
7.1 × 10⁻³ = 9.59 × 10⁻⁶ =

8.903 × 10⁻³ = 9.87 × 10⁻⁸ =
8.86 × 10⁻⁷ = 6.99 × 10⁻³ =
8.75 × 10⁻⁸ = 5.66 × 10⁻⁷ =

5.861 × 10⁻⁷ = 4.9 × 10⁻⁴ =
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Scientific Notation (I) AnswersConvert each number from scientific notation to an ordinary number.
1.575 × 10⁻⁴ = 0.0001575 8.5 × 10⁻⁸ = 0.000000085
4.128 × 10⁻³ = 0.004128 2.6 × 10⁻⁵ = 0.000026

8.4 × 10⁻⁷ = 0.00000084 2.05 × 10⁻⁸ = 0.0000000205
6.46 × 10⁻⁸ = 0.0000000646 8.131 × 10⁻⁷ = 0.0000008131

9.685 × 10⁻⁴ = 0.0009685 2.88 × 10⁻⁶ = 0.00000288
7.1 × 10⁻³ = 0.0071 9.59 × 10⁻⁶ = 0.00000959

8.903 × 10⁻³ = 0.008903 9.87 × 10⁻⁸ = 0.0000000987
8.86 × 10⁻⁷ = 0.000000886 6.99 × 10⁻³ = 0.00699
8.75 × 10⁻⁸ = 0.0000000875 5.66 × 10⁻⁷ = 0.000000566

5.861 × 10⁻⁷ = 0.0000005861 4.9 × 10⁻⁴ = 0.00049
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